
Question -1) What is the primary purpose of the passage?

A. To criticize the current state of U.K.-India relations.
B. To highlight the importance and potential of a U.K.-India partnership.
C. To explain the failures of the U.K.-India Free Trade Agreement.
D. To provide a historical overview of U.K.-India economic relations.

Question -2) According to the passage, what is a significant outcome of the '2030 Roadmap'?

A. The reduction of bilateral trade between the U.K. and India.
B. The increase in investments by both countries in each other's economies.
C. The cessation of cooperation on security and technology.
D. The decline in employment opportunities in both countries.

http://t.me/Daily_CR


Question -3) Why does the author emphasize the need for a new Roadmap to 2047?

A. To continue the progress made by the '2030 Roadmap' and unlock full benefits.
B. To reduce the economic ties between the U.K. and India.
C. To end the strategic partnership between the two countries.
D. To shift the focus away from technology and R&D collaboration.

Question -4) What is highlighted as a critical component of the new structure for the U.K.-
India partnership?

A. Increased tariffs on trade.
B. Technology and R&D collaboration.
C. Decreased investment in each other's economies.
D. Reduced focus on education.

Question -5) Which area is NOT mentioned as a potential focus for U.K.-India collaboration in
the passage?

A. Health-care partnership.
B. Climate change and sustainability technology.
C. Defence and security.
D. Space exploration missions.

Question -6) What does the author suggest is essential for improving the ease of doing
business in India?

A. Increasing tariffs and regulatory hurdles.
B. Shorter timelines for approvals and transparent government processes.
C. Reducing investments in technology and R&D.
D. Limiting the issuance of visas to Indian nationals.
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